LISTENING

1 Listen complete the gaps with 1– 3 words. 
GRAMMAR AND VOCABULARY

2 Choose the best word to complete the sentence. Circle the right answer: 

1 The decision of the arbitrator is ____________ on the parties.
a. bond


b. binding

c. bound 

d. bind
3 Complete each sentence with a word made from the word given in brackets. The word must be spelt correctly. Do not form new words using –ing.

1 National ___________ is a priority for many countries today.                        (SECURE)
4 Explain with English synonyms or definitions:

legal act
5 Complete the gaps with the most suitable words. There is only one word per gap. The first word is done for you as an example (0):

cca 250-word authentic English text
6 Translate the highlighted words and collocations into English. The first is done for you as an example (0):
cca 250-word authentic English text
7 Write the exact Czech equivalents for the highlighted words and phrases. Then translate the text into Czech. The overall meaning needs remain the same.
cca 250-word authentic Czech text

